oy | Gee | Gd

Simplify% = Simplify% = Simplifyi—z =
-17 + 18 = -25+ 14 = -134 + 135 =
2394 + 19 = 2793 + 19 = 3534+ 19 =
____-164=154 ____-375=453 ____-964=1353
1390 x 4 = 3653 x4 = 7534 x4 =
4,5 3,7 4,5 _

10 10 9 18 7 8

1.4x6= 2.7Xx6= 4.8x6 =

2= ml 45=__ ml 73l=_ ml
875+7= 1183 +7 = 1652 =7 =

Write 174 in Roman Numerals Write 553 in Roman Numerals Write 983 in Roman Numerals



T o e

Simplify% =1

2
-17+18=1
2394 +19=126
318 -164 =154

1390 x 4 = 5560
4,6 _10_,
10 10 10

1.4x6=8.4
2| = 2000ml
8/5+7=125

Write 174 in Roman Numerals
= CLXXIV

Simplify% = %

-25+14 =-11
2793 +19 =147
828 - 375 =453

3653 x4 =14612
3,7 _13

9 18 18
2.7x6=16.2
4.5| = 4500ml
1183 +7 =169

Write 553 in Roman Numerals
= DLIII

Simplify% = %

-134+135=1
3534 +19=186
2317 -964 = 1353

7534 x4 = 30136
4, 5_67_ .11
7 8 56 56
4.8x6=28.8
7.31 =7300ml
1652 +7 =236

Write 983 in Roman Numerals
= CMLXXXIII



